() (mm)

185 1,800
180 E i — ] 1 1,600
L -
175 N~ 7‘ — B — ‘7‘ 1 1400
170 H A H —L—i == N = P
o — _ ‘\‘/i{; ] 1,200
165 HHH H F— - HHHHHYHH H HH
_ 1 1,000
o HHHHHHHHHHYHHHHHHHHHHHF
1 800
s HHHHHHHHHHHHHHHHHKHHNEHNHHHF
1 600
so HHHHHHHHHHHHHHHHHHHHHF
145_______________________400
490 HHHMHHMHMHHHHHHHMHHMHHHHHHKHBEHAKNKNHH H 200
135 0
9 12 17 22 29
=== ——
() (mm)
40 500

0 // /_’_\\‘\: | 100
* e N R

1 1 250
5 N \ﬁ

.
\ 1 200
10
_u \. 1 150
5 e — — 1 100
O B B [ ] N
_5 |_| L | L | i L l_l O
29
10 1 12
— - ——



